, 60/\//'/\/6 [@42"'01\/5 UsNG
7 INVeErse OPFRAT’O:OS

Inverse (}pem&ons'

Addltlon + Sﬁbtraction -
Subtraction - Addition +
Multiplication « Division +

Division + Multiplication «

-19'" Line — ;'éuiu) THE EQATION ':
2nd LiNe —» "So/ve THE Eaoarial

ELvptoA J /m ,.5
4et, (X 1= uz@
gl Aaﬁié{c . ) WM? s s e j,,
it Wﬁ‘w% Jd? %5

3 Hore
So/vts:z_% ' [ ]4\&0? |70 | l/ ( 15 /;4 nggv
44

/O-r.Z— /5-5
o STRT AT THE (TS 18 Chect T ¢
L g@fﬁ /=5 2+ 5 =15

GG INVERSE W%A‘f‘/m}f/ 7o orks’



Practice 3.1 : J

Udtng ¢
Solve each equation. \j : /’5;;;:;]70)’\6'

J) 10x=150 / Ds8+x=—09 &
[ BT e

Dv-11=7

=
il e =

18) ~15==4m+5

14) 10-6v=-104
o las Bl gt 3 |
P S
15) 8-+ 7 31 Dex-to-0a
2y | P |

o i e 0 oo
So thar Yoo Know
TAese. equations arge cslled
"o-sTep Equations”

(Because ir Takes X STeps To Sole Them )



Tow, LeT’s Solve Egvations that haye

6 v mP’f/

Vapicbles or

e

X is en o
X+t =266  bowm Original Problem.
Sides
X+4 4 =2x-6-4 Let's start by trying to get
Ehmirce | all of the constants on the
(ZZ\Q} fjn # MigNthand side of the
omee side) €Quation. |am goingto
Move the 2 To the subtract4 from BOTH
Side 0 The X sides so that x is left on
the left hand side.
X=2x-10 Simplify. 6—4 =-100n
To move. Yhe | tharighthandside. But
—5e fg bifﬁ' > jfs we still have 2x to get on

;o

the left hand side.

X5 — 2x 5 10

| subtracted 2x from
BOTH sides, so now no
variable terms are lefton

cg,ﬂb‘"@/ : :
©s therightand x -2x is on
e the left hand side.
X=-10 & the We want our answerto be
Vekiable 1S a positive X nota negative
héjﬂ/ ve W’yé X
All Signs

(-1)(x) = -10(-1) /

S +he Sdame.
7"),:7 as lnulT/p/ n

Multiply both sides by -1 to
make x positive on the left
hand side.

Y —|
F Our final answer.
Check:
XH =26 Substitute 10 for x in the
10+4 = 2(10)-6 equation. Since both
14 = 14 sides are equal fo 14, our

answerx =10 is comect.

both 5/6{65 o |

o Mo ©re
Va/ec'«;ble, So
7467 boh
YaRich les
aRre on Yhe
Same sicdle,

o Combine.
vhe vy piables

o Now
Solve as
vsval .



Workeheed) — Solving Multi-Step Equations
m@[F[kSSf'@@ Variables on Both Sides - Negative Coefficients

Name: Date:

{

G5 "5x—77=x+6_1__\ ;

L.T_Trfl move the = 5X /'Comb'"e’
-5x +8x - 37 = J<+534 + Gl

comured _93: GX 40l
./‘)ow)jcfm/ei‘q/ oé ol —p = I3 _—f:l = 6% -\—(a[-_:_(‘_,‘ = - |?>8 =X

|(3) 4x-35=31+7x] =29 [(4) "8x-21=-x+39]
[(5) 3x- 177 = 12x + 48| [(e) &x 10= 18+ 72 |
fe) i~ 8u= 085 45 [(6) 7x-37=23+ 4x |
|(o) 8x - 93 = 111 - 4| \do) -14 - 5x = 32 - 3x)

B i em———

((11> 55— 11 = 15 + 7x) |2 "69 + 5x = 81  Tix|

Copyright ©2016 WorksheetWorks.com



(j;/ylf? E@Qar0nS w/’% FRad1ons

what Yov clo +o e
e B R | vhet it e

2X - Y4=8 "’“;”5‘;-1./ on 77)@, LeyT so “+haT
5 onb the fRackion wirth the

vars 4,.5/{, JAS Le/‘7‘

-5
'Now eliminade +he & Jhar
/ is ehvidi ing,
X > W5 = |0 x58 - 0w, glmineta
= ‘ AX = @O o’z wour
moulriplies X

2(3O> __u/

/\f(p(,() 7 %llel,éi;%!ef/) (—E = o
Yhe denominatore O | Tt checkKs |

2, g L) 0‘1: £L\M;N?-'T£A*H\e S;c on e
et —.=—=» o770 m wWAich 15 'Vid'i'y)
5Xx Multiply by Bx(boh < tdes)

____,-.._\ +1 "7'4' U'f ,,25-]- 2)—
PR, &
Z s 40% aD';Vidgb\j
(ﬁ-)j/- "7’/‘9554 2 3ux b
B Y JZ-E]

o In /?eaay yao are doirg Lxactly vhe
Same FAiA a()d ave 5(’9 /0;’g]

G —yp YaRiable aJone with 4 in
fganT ej lKelf an d N ‘f);& M MeRTOR




Solve each equation.

B 6= +2
4

e -2
20

v
5) 15=—
) 2

/L

6) _1=5+x

V+9

7)

1) 2=2,Y

({]

s



Name Date

Distributive Property

Solving Equations Using The Distributive Property

The distributive property allows us to remove the parentheses by distributing the value outside
the parentheses with each term located inside the parentheses. The distributive property is a
way to write an expression in expanded form.

Example: 3(6 + 9) 3(6+9) 3x6+3x9 18 +27 =45
There are two Multiply the 3 by each term Rewrite Solve
terms inside the parentheses. inside the parentheses.

Whenever a number is being multiplied by each term inside a set of parentheses it should be

recognized as the distributive property. The distributive property is necessary to solve some
algebraic equations or to simplify some algebraic expressions.

~ %
Example: Solve 5(x-8)=10 @) 5(x-8)=10 b) 5x-40=10 c) 5x =50 d)
40240 - |5

Directions: Find the value of x for each of the following equations.
1) 6@):48 2) 45-x)=8 3) 7x+2)+3=73 4) 8(x-3)= 96

bx+ 8= 498
6x + 18 '_i_zﬁ = 4y8-18

@é = 30
= 5’
5) 9(x +3) =27 6) 12(x + 20) = 372 7) 4(x-5) =44 8) 3(x - 20) = 15

9) 5(x+9) -4 =51 10) 8(x +100)-3=837 11)2(x-5+2)=6 12) 20(x + 1) = 200

13) 12(x - 4) = 144 14) 9(X +9) =90 15) 7(2 +x) = 35 16) 8(11 - x) = 16



13) -15=—4m+5

15): 8+ 7 =31
5
ey

-16

19) —-10=10(k-9)

21) 9+9n=9

b
23) 8+ —=5
—4

Mowe., [ oactice

14) 10-6v=-104

16) -9x-13=-103

18) -10=-10+7m

MW= D
9

22) 7(9 + k) = 84

24) —243=-9(10+ x)

USe. cfuichevers
57(7,’?;{///{%%(52& =/ P esttrod! jeac) /D /Qg/g/z,’/



Solving Linear Equations: The Ultimate Guidelines

The Preparation:

1. Eliminate any parentheses by distributing.
2. Clear any fractions or decimals by multiplying each side by the equation’s LCD.

3. Combine like terms on each individual side.

Isolating the Variable;
4. If necessary, reduce the equation to standard form.

5. If necessary, isolate the variable term then finish solving.

Example 6: Solve each equation and verify the solution.

1 2
a) §<x+§) = 3(x-1) b) 0.2(3y-5) = 0.152y +3)-0.85
Procedure:  First distribute, then clear the fractions or decimals. T A
258 @ =
Answer: /
! 2
a) 7 (x + §> = 3x-1) Distribute and simplify; % . % = %

LOWeR Common) e pominaTol

1 1 The LCD is 6. Prepare the equation by placing
DS = 3% 3 parenfiSses around each side. Multiply each side by 6.
6(1 1

T(_Q'x+§) = 6(3x—3) 02)47 Simplify: % %‘ x = 3x and 19 % =12
L3 x g Lea o %f‘ﬂ—c. T (36-3) appthen = SXI2 3.3 o

2x3 32
— W Reduce this to standard form
3x +2 = 18x - 18 \jgs @an by alédingl-ix to each side. (3X+2)%é(3)(—3)
k_\____ﬂ&{\/—\/ 7
3x+(-3x) + 2 = 18x + (-3x) — 18 Simplify.
Isolate the variable term by
2 = 15x - 18 adding +18 to each side. ~
2+18 = 15x — 18 + 18 Verify the solution%:
Divide each 1 2
20 =5 side by 15. > x+§) = 3x-1)
20 15x a5 4
=185 Simplify. §(§+§ = 3(3—— 1)
& 1,6 43
3= % 2(3) = 3(G-3
4 E g g
x=3 7 5§ 5| 1(3)
T =81 /

Solving Equations Containing Fractions and Decimals page2.3-13



b) 0.2(3y~-5)= 0.152y +3)—0.85  Distribute,

Write each decimal so that

0.6y—1.0= 0.30y + 0.45 - 0.85 it has two decimal places.

Prepare the equation by placing parentheses
0.60y — 1.00 = 0.30y + 0.45 —0.85 around each side. Multiply each side by 100.

100(0.60y - 1.00) = (0.30y + 0.45 — 0.85)100

Combine like terms

60y—-100= 30y+45-85 on the right side.
Reduce this to standard form
60y —100= 30y—40 by adding -30y to each side.
60y + (-30y) —100 = 30y + (-30y) — 40 Simplify. _ You finish it:
Verify that 2 is the solution.
Add 100 to
30y—100= -40 each side.
30y—100+100=  -40 + 100 g7 T
Divide each
Sy= 6O side by 30.
30y 60
30 = 30
y=. 2 1

Solving Equations Containing Fractions and Decimals page2.3 - 14



